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Solution

S1. Ans.(a)
Sol. The given sentence is in passive voice. write 'I' in active voice and do not change the tense of the
sentence. In standard passive structure, we write (subject + verb + be + past participle + preposition
by + object)

S2. Ans.(d)

Sol. The given sentence is in passive voice. In standard passive structure, we write (subject + verb +
be + past participle + preposition by+ object). In passive sometime, we omit the object but we need
subject in active voice. indefinite pronoun 'one' will be used as subject in active voice. and auxiliary

verb 'should' will be used. hence, option D is correct answer choice.

S3. Ans.(b)
Sol. The given sentence is in passive voice. First thing first, we do not change the tense of the
sentence while changing active to passive or vice versa. option A, C and D ruled out. Hence, Option B

is correct answer choice.

S4. Ans.(b)
Sol. The given sentence is in active voice. make 'this essay' as subject in the passive voice and 'him' as
object in passive voice. past participle form 'written'. and preposition 'by'. option A, C and D ruled

out because of tense rule. Hence, option B is correct answer choice.

S5. Ans.(b)
Sol. The given sentence is in passive voice, we need to change it in active voice. the last part in option
A and C is incorrect hence option A and C are wrong. in option D pronoun 'them' is missing, hence

option D also incorrect. Only option B is correct active voice.

S6. Ans.(c)
Sol. The given sentence is in Active voice. we do not change the
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S7. Ans.(b)

Sol. make 'the war' subject in passive voice, write "be + ended". 10 TEST BOOKLETS (PRINTED TEST)

tense of the sentence while changing active to passive or vice versa.

Sentence A, B and D ruled out. Option C is correct answer choice.

Bilingual

Option b is correct answer choice.
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S8. Ans.(c)

Sol. The given sentence is in past continuous tense, hence the tense should not be changed while
changing active to passive. write 'a canal' as subject in passive, (was + being- dug) , preposition by.
option A and D have wrong tense structure, hence incorrect. Option C is correct Answer choice.

S9. Ans.(b)
Sol. "Cacao tastes bitter". In such sentence structures, we make passive voice by writing "Cacao is
bitter when it is tasted." In option A, C and D, the active voice structure is incorrect.

S10. Ans.(c)
Sol. make "all our needs" subject in passive voice, write preposition 'by', write objective case pronoun
'us' in passive voice. Option C is correct Answer Choice.

S11. Ans.(c)

Sol. we do not change the tense of the sentence while converting active/passive into passive/active.
option A, B and D have changed the tense of the sentence. The given question sentence is in present
continuous tense. we need to keep this tense, hence, option C is correct answer.

S12. Ans.(b)

Sol. the given sentence is in passive voice, we need to change it in active voice. option A is missing
perfect tense verb, hence ruled out. option C and D have incorrect active sentence structure. hence
Option B is correct answer choice. "them" is changed into "subjective pronoun "they'.
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B, Cand D are incorrect. Hence Option A is correct answer choice. 350+ TOTAL TEST

Sol. The given sentence is in Active voice, we need to change it in

Passive voice.

Change 'she' into 'her' in passive voice, write “cannot be
managed”. make the situation subject in the passive voice. Option
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Sol. The given sentence is in Active voice, we need to change it in

Passive voice. "will be convened" is correct passive verb structure.
make the officer object in the passive voice. use preposition 'by' in passive voice. Hence, option D is
correct.

S15. Ans.(b)

Sol. The given sentence is in Active voice, we need to change it in Passive voice. change 'us' into 'we/,
write 'our hosts' as object in passive voice, "were treated" is correct passive verb structure. Hence,
option B is correct.

2 | www.bankersadda.com www.sscadda.com | www.careerpower.in | www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.careeradda.co.in/

S16. Ans.(b)

Sol. The given sentence is in Active voice, we need to change it in Passive voice. the tense of the
sentence is past simple, we need to keep the same tense in passive voice as well. option A, C and D
are in different tense other than past simple tense. hence ruled out. option B is correct answer choice.

S17. Ans.(b)

Sol. In option A preposition 'by' is missing, hence incorrect. option C and D are incorrect because of
incorrect tense structure. Hence, option B is correct answer choice. "will have been instructed by the
ministry" correct usage of passive verb structure.

S18. Ans.(b)

Sol. The given sentence is in Passive voice, we need to change it in Active voice. option A is in
passive voice, which is incorrect. Only option B is correct active voice structure for the given sentence
in the question. Hence, option B is correct answer choice.

S19. Ans.(d)

Sol. The given sentence is in Active voice, we need to change it in Passive voice. make "my kitchen
window" subject in passive voice, "was broken" is correct verb form in passive, use preposition 'by',
use 'your little boy' as object in passive voice for the given sentence in the question. hence, option D is
correct answer.

S20. Ans.(d)

Sol. The tense of the given question sentence is present continuous, we need to use same tense in
passive as well. write "A new airport" as subject in passive. option D is correct answer choice. option
Cis ruled out due to tense rule.

S21. Ans.(d)
Sol. In imperative sentences, we use ‘let’ to make passive voice. hence option D is correct answer
choice.

S22. Ans.(a)
Sol. We do not change of the tense of the sentence while converting active/passive to passive/active.
In option B, C and D the tense has changed, hence option A is correct answer choice.

S23. Ans.(c)

Sol. Since, We do not change of the tense of the sentence while converting active/passive to
passive/active, option A is eliminated on this ground. In B, we need plural verb but singular verb is
used, hence B eliminated. Only option C is correct.

S24. Ans.(d)
Sol. The given sentence is in active voice, we need to change it in passive voice. make “a hole” subject
in passive voice, option D is correct answer.
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S25. Ans.(a)
Sol. Option A is correct passive voice. In B, “dealing’ is incorrect.

$26. Ans.(a) s SSC CGL MAINS

Sol. Write “The leader’s speech” as subject in passive voice. make  Egf TIER-II

“The audience” object in passive voice. In B, verb ‘is” incorrect. Only

option A is correct. ENGLISH LANGUAGE
S27. Ans.(b)

L . . 20 FULL LENGTH MOCKS
Sol. In A, ‘being’ is missing hence incorrect, in C and D the tense

has changed hence incorrect, Only B is correct answer choice.

S28. Ans.(a)
Sol. Make ‘vegetarians’ subject in passive voice, object ‘you’ is not important in passive voice, hence
option A is correct answer choice.

S29. Ans.(c)
Sol. Option C is correct answer. In B, ‘to” is incorrect. In A, pronoun ‘me’ is incorrect. In D, use of
“recommends” is incorrect.

S$30. Ans.(d)
Sol. Write ‘These hunters” as subject in active voice, write plural verb “have’ for plural subject “These
hunters’. In A, B and C, tense has changed hence incorrect. Option D is correct.
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